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%? ?A?36@5:6: 5: 9B:C 67C :>46@5:7C 6<= :A9µ:3<= )1$-0'"-(.(#!(, µ: 6D
µEF<G< 643 A<BB?ABH3 :A7B<IH3 56< "+"%-0-!*( J,..(.

)1$-0'"-(.(#!(

1. 0 <>7?8@ ><A@ A><C ?A<6?µ;:=5D :;3?7:
?) &()*+*! µ!,%"-*!./ %&' */ µ+)($% 
K) &()*+*! #0/ µ! */ µ+)($%
I) &()*+*! µ12.'*!./ %&' */ µ+)($%
G) *#&+*! %&' *% &%.%&()3

2. -< LF><75µ? 6DC µE5DC ><A@C A><C 8?6?3LB45D 8?7 6DC µE5DC ><A@C A><C ?A<6?µ;:=5D :;3?7:
?) &()*+*! #0+ µ! *+) %.14µ' 2
K) &()*+*! #0+ µ! *+) %.14µ' 10
I) &()*+*! #0+ µ! *+) %.14µ' 1
G) *#&+*% %&' *% &%.%&()3 

3. &: µ7? 8B:756@ <78<3<µ;? 9A<= EM<=µ: 8?6?3?B46EC, :A7M:7>@5:7C 8?7 8>L6<C 8?7 5=µK<B;N<=µ:
µ: , 6< :759GDµ? 6DC <78<3<µ;?C, µ: C 6D3 8?6?3LB45D, µ: S 6D3 ?A<6?µ;:=5D 8?7 G 67C 8>?678EC
G?AL3:C 75MO<=3 AL36<6: 6? :P@C: 
?) Y = C + S
K) Y = C + S + G
I) S=G
G) S = Y - G

4. ': G:G<µE3D 6D3 ?89B<=FD 5=3L>6D5D ?A<6?µ7:O5:43 S = -100 + 0,20Y A><8OA6:7 967 D <>7?8@
><A@ A><C 8?6?3LB45D :;3?7 ;5D µ::
?) -100
K) 0,80
I) -0,20
G) 1,0

5. Q6?3 BEµ: ?OPD5D 643 :A:3GO5:43 6DC <78<3<µ;?C :33<<Oµ::  
?) %-5/0/ *+6 2!7%"%1+6812+- !5+&"10µ+- */9 +12+)+µ#%9
K) %-5/0/ *3) %&+*%µ1!-0!3) */9 +12+)+µ#%9
I) %-5/0/ *+6 06)+"12+- %.14µ+- *3) µ!*+8:) 0*+ ;./µ%*10*<.1+
G) %-5/0/ *3) 3.:) "!1*+6.,#%9 *+6 2!7%"%#+6 0! !*<01% =(0/



 !"#$% 2 %&' 13

6. ( A<BB?AB?57?56@C 643 :A:3GO5:43 R?3:>H3:7:
?) &'0!9 7+.>9 %65()+)*%1 +1 !&!)$-0!19 '*%) %65()!*%1 *+ !10'$/µ% 2%*( µ1% µ+)($%
K) &'0!9 7+.>9 %65()+)*%1 +1 !&!)$-0!19 '*%) %65()+)*%1 +1 %&+*%µ1!-0!19 2%*( µ1% µ+)($%
I) &'0+ 4% %65/4!# *+ !10'$/µ% '*%) %65()+)*%1 +1 !&!)$-0!19 2%*( µ1% µ+)($%
G) *#&+*! %&' *% &%.%&()3

7. 0 ?OPD5D 6<= :75<G@µ?6<C µ7?C <78<3<µ;?C µA<>:; 3? :A76:=MF:;:
?) µ! µ!#30/ *3) 7'.3)
K) µ! %-5/0/ *3) 1$13*12:) !&!)$-0!3)
I) µ! %-5/0/ *3) 2.%*12:) $%&%):) 
G) µ! '"% *% &%.%&()3

8. 0 GDµ<57<3<µ78@ A<B7678@ 6<= 8>L6<=C 5=3;56?6?7:
?) 0! µ!#30/ *3) !&1*+2#3)
K) 0! 2%4+.10µ' */9 *1µ<9 *+6 06)%""(,µ%*+9
I) 0! µ!*%=+">9 *3) 7'.3) 2%1 *3) 2.%*12:) $%&%):)
G) 0! >"!,8+ *+6 ;./µ%*10*/.#+6

9. Q6?3 EM<=µ: ABDF4>75µ9 ND6@5:4C 696: A?>?6D><Oµ::
?) %-5/0/ *3) *1µ:) 2%1 *%6*'8.+)/ µ!#30/ */9 06)+"12<9 &.+07!.'µ!)/9 &+0'*/*%9 %,%4:)
K) %-5/0/ *3) *1µ:) 2%1 0*%4!.< */) 06)+"12< &.+07!.'µ!)/ &+0'*/*% %,%4:)
I) &*:0/ *3) *1µ:) 2%1 *%6*'8.+)/ µ!#30/ */9 06)+"12<9 &.+07!.'µ!)/9 &+0'*/*%9 %,%4:)
G) %-5/0/ *3) *1µ:) 2%1 *%6*'8.+)/ %-5/0/ */9 06)+"12<9 &.+07!.'µ!)/9 &+0'*/*%9 %,%4:) 

10. 0 8?µAOBD Phillips 8?6?G:783O:7:  
?) */ 08>0/ µ!*%5- 2%*%)("30/9 2%1 %&+*%µ#!60/9 
K) */ 08>0/ µ!*%5- &+0+0*+- %65<0!39 *1µ:) 2%1 &+0+0*+- %)!.,#%9  
I) */ 08>0/ µ!*%5- 7+.+"+,#%9 2%1 2.%*12:) $%&%):) 
G) '"!9 *19 &1+ &()3 08>0!19

11. &OµR43? µ: 6<3 *ES3C 6< :A76987< A><5G7<>;N:6?7:
?) %&' */) &.+07+.( 2%1 ?<*/0/ %&+*%µ1!6*12:) 2!7%"%#3)
K) %&' */) &.+07+.( 2%1 ?<*/0/ *3) µ!*+8:) 2%1 *3) +µ+"+,1:)
I) %&' */) &.+07+.( 2%1 ?<*/0/ 8.<µ%*+9
G) %&' *+ >""!1µµ% *+6 2.%*12+- &.+@&+"+,10µ+-

12. &OµR43? µ: 6D3 *:S357?3@ F:4>;? D <78<3<µ;? K>;58:6?7 5: 8?6L56?5D AB@><=C ?A?5M9BD5DC
96?3:  
?) *% !&1*'21% !#)%1 &+"- 8%µ/"(
K) *% !&1*'21% !#)%1 &+"- 6A/"(
I) '*%) +1 !&!)$-0!19 !#)%1 #0!9 µ! *19 %&+*%µ1!-0!19 
G) *#&+*! %&' *% &%.%&()3

13. Q6?3 D *:36>78@ ->LA:N? ?I<>LN:7 6;6B<=C 56D3 ?3<786@ ?I<>L A?>?6D><Oµ::
?) µ!#30/ *3) .!60*:) $1%4!0#µ3) *3) !µ&+.12:) *.%&!?:)
K) %65/*12>9 *(0!19 *3) !&1*+2#3)  
I) µ!13*12>9 *(0!19 *3) !&1*+2#3)
G) %-5/0/ *+6 !""!#µµ%*+9 *+6 2.%*12+- &.+@&+"+,10µ+-

14. "3 <7 :A:3GO5:7C ?=PDF<O3 8?6L 50 G75. 8?7  D <>7?8@ ><A@ A><C ?A<6?µ;:=5D :;3?7 0,20 696: 6<
:759GDµ? F? ?=PDF:; 8?6L:
?) 50 $10. 
K) 0,20 $10.
I) 250 $19.
G) 1000 $19.

15. "3 56D3 A<5<678@ F:4>;? A:>; M>@µ?6<C =A<FE5<=µ: 967 ?=PL3:6?7 µ93< D A<596D6? 6<=
M>@µ?6<C 696: F? EM<=µ::
?) %-5/0/ */9 &%.%,3,<9
K) µ!#30/ */9 &%.%,3,<9
I) %-5/0/ *3) *1µ:)
G) *#&+*! %&' *% &%.%&()3
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16. -< =A9G:7Iµ? IS – LM A:>7B?µKL3:7: 
?) µ')+ */) %,+.( %,%4:)
K) µ')+ */) %,+.( 8.<µ%*+9
I) µ')+ */) %,+.( !.,%0#%9
G) µ')+ *19 %,+.>9 %,%4:) 2%1 8.<µ%*+9

17. &OµR43? µ: 6D3 *B?578@ F:4>;? µ?8><M>937? D <78<3<µ;? K>;58:6?7:
?) 0! &"<./ %&%08'"/0/
K) 0! 10+..+&#% '81 'µ39 2%1 0! &"<./ %&%08'"/0/
I) 0! 2%*(0*%0/ -7!0/9
G) *#&+*! %&' *% &%.%&()3

18. Q6?3 A?>?6D>:;6?7 OR:5D 56D3 <78<3<µ;? 696: 5OµR43? µ: 6D3 *:S357?3@ F:4>;? 6< 8>L6<C
A>EA:7: 
?) )% %65<0!1 *+69 7'.+69
K) )% µ!1:0!1 *19 2.%*12>9 $%&()!9
I) )% µ!1:0!1 *+69 7'.+69 2%1 )% %65<0!1 *19 2.%*12>9 $%&()!9
G) )% µ/) 2()!1 *#&+*!

19. &: µ7? I>?µµ78@ 5=3L>6D5D 8?6?3LB45DC 9A<= D ?=693<µD 8?6?3LB45D :;3?7 µDGE3
A?>?6D><Oµ: 967:
?) / µ>0/ .+&< &.+9 2%*%)("30/ !#)%1 #0/ µ! */) +.1%2<
K) / µ>0/ .+&< &.+9 2%*%)("30/ !#)%1 &()*+*! µ!,%"-*!./ %&' */) +.1%2<
I) / µ>0/ .+&< &.+9 2%*%)("30/ !#)%1 &()*+*! µ12.'*!./ %&' */) +.1%2< 
G) *#&+*! %&' *% &%.%&()3

20. 0 75<>><A;? 56< =A9G:7Iµ? IS – LM A><5G7<>;N:7:
?) *19 *1µ>9 *+6 !&1*+2#+6 2%1 *+6 8./µ%*12+- µ104+-
K) *19 *1µ>9 *+6 !10+$<µ%*+9 */9 +12+)+µ#%9 2%1 */) %&%08'"/0/
I) *19 *1µ>9 */9 2%*%)("30/9 2%1 */9 %&+*%µ#!60/9 
G) *19 *1µ>9 *+6 !10+$<µ%*+9 */9 +12+)+µ#%9 2%1 *+6 !&1*+2#+6.

21. '7? ?OPD5D 6DC A><5R:>9µ:3DC A<596D6?C :39C ?I?F<O µA<>:; 3? A><EBF:7:
?) %&' µ!#30/ */9 *1µ<9 *+6 
K) %&' %-5/0/ */9 *1µ<9 *+6
I) %&' %-5/0/ *+6 2'0*+69 &%.%,3,<9 *+6
G) %&' µ!#30/ */9 &.+07+.(9 !)'9 6&+2%*(0*%*+6 %,%4+-

22. "C =A<FE5<=µ: 967 D :B?567896D6? N@6D5DC 4C A><C 6D3 67µ@ 643 ?=6<873@643 :;3?7 ;5D µ: –2,0
8?7 967 <7 A><µDF:=6EC 643 ?=6<873@643 ?=PL3<=3 6D3 67µ@ 8?6L 10%. )L3 9B<7 <7 B<7A<;
A><5G7<>75678<; A?>LI<36:C 6DC N@6D5DC ?=6<873@643 A?>?µ:;3<=3 56?F:><; 696: D µ:6?K<B@
6DC 67µ@C F? :A7RE>:7:
?) µ!#30/ */9 ?/*+-µ!)/9 &+0'*/*%9 %6*+21)<*3) 2%*( 10%
K) %-5/0/ */9 ?/*+-µ!)/9 &+0'*/*%9 %6*+21)<*3) 2%*( 20%
I) µ!#30/ */9 ?/*+-µ!)/9 &+0'*/*%9 %6*+21)<*3) 2%*( 20%
G) µ!#30/ */9 ?<*/0/9 %6*+21)<*3) 2%*( 20%

23. )L3 D 5=3L>6D5D M>D57µ96D6?C :39C 8?6?3?B46@ :;3?7 6DC µ<>R@C U = X + Y  696: <7 8?µAOB:C
?G7?R<>;?C µ:6?PO 643 ?I?FH3 T 8?7 , :
?) !#)%1 !64!#!9 µ! 2"#0/ -1,0 
K) !#)%1 +.4>9 ,3)#!9 µ! µ/$!)12< 2"#0/
I) !#)%1 26.*>9 39 &.+9 */) %.8< *3) %5')3)
G) *#&+*! %&' *% &%.%&()3

24. )L3 D 5=3L>6D5D M>D57µ96D6?C :;3?7 6DC µ<>R@C U = X + Y 696: 6? ?I?FL T 8?7 , :;3?7:
?) 06µ&"/.3µ%*12(
K) *>"!1% 6&+2%*(0*%*%
I) &+"6*!"!#%9 
G) *#&+*! %&' *% &%.%&()3
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25. )L3 D 5=3L>6D5D M>D57µ96D6?C :;3?7 6DC µ<>R@C U = X + Y 696: < (>7?89C .9I<C
,A<8?6L56?5DC µ:6?PO 643 ?I?FH3 T 8?7 , :;3?7:
?) #0+9 µ! 0 
K) #0+9 µ! -2,0
I) #0+9 µ! -1,0 
G) #0+9 µ! +1,0

26. )L3 GO< ?I?FL T 8?7 , :;3?7 6EB:7? =A<8?6L56?6? 696::
?) + 2%*%)%"3*<9 4% %,+.(0!1 µ')+ *+ 74/)'*!.+ 
K) + 2%*%)%"3*<9 4% %,+.(0!1 µ')+ *+ %2.1='*!.+ 
I) + 2%*%)%"3*<9 4% %,+.(0!1 2%1 ; 2%1 B !&!1$< *% $6+ %,%4( >8+6) $1%7+.!*12>9 *1µ>9
G) + 2%*%)%"3*<9 $!) 4% %,+.(0!1 +-*! ; +-*! B

27. 0 5=3L>6D5D A?>?I4I@C G:;M3:7:
?) */ 08>0/ *1µ<9 2%1 &.+07!.'µ!)/9 &+0'*/*%9
K) */ 08>0/ *1µ<9 2%1 &.+07+.(9
I) *+ !"(810*+ &.+C') &+6 µ&+.!# )% &%.%84!# %&' *19 $!$+µ>)!9 &+0'*/*!9 &%.%,3,12:)

06)*!"!0*:) 0! $!$+µ>)+ 8.+)12' $1(0*/µ%
G) *+ µ>,10*+  &.+C') &+6 µ&+.!# )% &%.%84!# %&' *19 $!$+µ>)!9 &+0'*/*!9 &%.%,3,12:)

06)*!"!0*:) 0! $!$+µ>)+ 8.+)12' $1(0*/µ%

28. )L3 G7?7>E5<=µ: 6D 5=3<B78@ A?>?I4I@ µ: 6D3 A<596D6? 6DC :>I?5;?C ?=69 A<= A><8OA6:7
:;3?7:
?) *+ µ>0+ &.+C') */9 !.,%0#%9 
K) *+ 06)+"12' &.+C') */9 !.,%0#%9
I) *+ +.1%2' &.+C') */9 !.,%0#%9
G) *+ µ>0+ 2'0*+9 */9 !.,%0#%9

29. &: µ7? AB@>4C ?36?I4375678@ ?I<>L 8?7 56D µ?8><M>937? A:>;<G<:
?) / *1µ< !#)%1 &()*% µ!,%"-*!./ %&' *+ µ>0+ 2'0*+9 ,1% */) *6&12< !&18!#./0/ *+6 2"($+6
K) 6&(.8+6) %.2!*( 2>.$/ 2%1 !#0+$+9 2%1 (""3) !&18!1.<0!3) 0*+) 2"($+ 4% &.>&!1 )%

%)%µ>)!*%1
I) 6&(.8+6) ?/µ1>9 2%1 06)!&:9 4% &.>&!1 )% %)%µ>)!*%1 >5+$+9 !&18!1.<0!3) %&' *+) 2"($+
G) $!) 6&(.8!1 2%)>)%9 "',+9 &">+) ,1% !#0+$+ 2%1 >5+$+ !&18!1.<0!3) %&' *+) 2"($+

30. &6D3 A:>;A645D 6<= µ<3<A4B;<= 8?7 I7? G:G<µE3< :A;A:G< A?>?I4I@C:
?) / *1µ< !#)%1 µ!,%"-*!./ %&' *+ +.1%2' >0+$+
K) / *1µ< !#)%1 µ12.'*!./ %&' *+ +.1%2' >0+$+
I) / *1µ< !#)%1 #0/ µ! *+ +.1%2' >0+$+
G) *#&+*! %&' *% &%.%&()3

31. -< µ<3<AHB7< I7? 3? A><5G7<>;5:7 6< :A;A:G< 6DC A?>?I4I@C: 
?) !510:)!1 *+ +.1%2' >0+$+ µ! *+ +.1%2' 2'0*+9
K) !510:)!1 */ *1µ< µ! *+ +.1%2' 2'0*+9
I) !510:)!1 */) *1µ< µ! *+ +.1%2' >0+$+
G) !510:)!1 *+ µ>0+ 2'0*+9 µ! *+ +.1%2' 2'0*+9  

32. #7? 3? :AD>:L5:7 67C A4B@5:7C 6DC D :A7M:;>D5D 56<3 µ<3<A4B7?89 ?36?I4375µ9: 
?) µ&+.!# )% µ!1:0!1 */) *1µ< *+6 &.+C')*+9
K) µ&+.!# )% $1%7+.+&+1<0!1 *+ &.+C') 
I) µ&+.!# )% %65<0!1 *19 $%&()!9 $1%7<µ10/9 2%1 &.+:4/0/9 *+6 &.+C')*+9
G) '"% *% &%.%&()3

33. 0 67µ@ 6DC K:3N;3DC ?BBLN:7 8LF: KG<µLG? 56? A>?6@>7?. +?>L 6?O6? < #7L33DC G?A?3L ?8>7KHC
10 :=>H 8LF: KG<µLG? 56D3 ?I<>L K:3N;3DC. "=69 5Dµ?;3:7 967:
?) / 06µ&!.17+.( *+6 D1())/ &%.%=1(?!1 *+ )'µ+ */9 ?<*/0/9
K) / ?<*/0/ *+6 D1())/ ,1% =!)?#)/ !#)%1 !)*!":9 %)!"%0*12<
I) / ?<*/0/ *+6 D1())/ ,1% =!)?#)/ !#)%1 !)*!":9 !"%0*12<
G) / ?<*/0/ *+6 D1())/ ,1% =!)?#)/ >8!1 µ+)%$1%#% !"%0*12'*/*%

34. )L3 D 8B;5D 6DC 8?µAOBDC 75<A?>?I4I@C :;3?7 F:678@ 696::
?) / !&18!#./0/ $!) &%.(,!1
K) *+ +.1%2' &.+C') 2%1 *3) $6+ &%.%,3,12:) 06)*!"!0*:) !#)%1 %.)/*12' 
I) *+ +.1%2' &.+C') 2%1 *3) $6+ &%.%,3,12:) 06)*!"!0*:) !#)%1 4!*12'
G) *+ +.1%2' &.+C') !)'9 !2 *3) $6+ &%.%,3,12:) 06)*!"!0*:) !#)%1 %.)/*12'.
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35. )L3 6< 5=3<B789 8956<C µ7?C :A7M:;>D5DC G;3:6?7 ?A9 6D3 TC = a + bQ + cQ
2
 , 9A<= Q :;3?7 6<

:A;A:G< 6<= A?>?I9µ:3<= A><U936<C 696: 75MO:7 967:
?) *+ +.1%2' 2'0*+9 !#)%1 MC= b + cQ
K) *+ µ>0+ 2'0*+9 !#)%1 AC = a/Q + b
I) *+ µ>0+ µ!*%="/*' 2'0*+9 !#)%1 AVC = b
G) *+ µ>0+ 0*%4!.' 2'0*+9 !#)%1 AFC = a/Q

36. )L3 6< 5=3<B789 8956<C µ7?C :A7M:;>D5DC G;3:6?7 ?A9 6D3 TC = a + bQ + cQ
2
 , 9A<= Q :;3?7 6<

:A;A:G< 6<= A?>?I9µ:3<= A><U936<C 696: 75MO:7 967:
?) *+ !"(810*+ µ>0+ 2'0*+9 &%.%*/.!#*%1 0*+ Q* = (a/c)

1/2

K) *+ !"(810*+ µ>0+ 2'0*+9 &%.%*/.!#*%1 0*+ Q* = (a/c) +b
I) *+ !"(810*+ µ>0+ 2'0*+9 &%.%*/.!#*%1 0*+ Q* = a/Q + b + cQ
G) *+ !"(810*+ µ>0+ 2'0*+9 &%.%*/.!#*%1 0*+ Q* = b + 2cQ

37. 0 5=3L>6D5D A?>?I4I@C Q = AKL
0.5

 (9A<=, " :;3?7 E3?C 56?F:>9C F:6789C 9><C, * :;3?7 6<
8:RLB?7< 8?7 L :;3?7 D :>I?5;?) M?>?86D>;N:6?7 ?A9:
?) %-5+60!9 %&+$'0!19 2"#µ%2+9
K) 74#)+60!9 %&+$'0!19 2"#µ%2+9 
I) 0*%4!.>9 %&+$'0!19 2"#µ%2+9 
G) %&%1*+-)*%1 &.'04!*!9 &"/.+7+.#!9 ,1% )% &.+0$1+.10*+-) +1 %&+$'0!19 2"#µ%2+9

38. 0 G7?R@µ75D 6<= A><U936<C G:3 5=µRE>:7 6D3 :A7M:;>D5D 56D3 ?I<>L:
?) *+6 *>"!1+6 %)*%,3)10µ+-
K) *+6 µ+)+&3"#+6
I) *+6 +"1,+&3"#+6
G) *+6 µ+)+&3"1%2+- %)*%,3)10µ+-

39. -< =A9G:7Iµ? 6DC ‘8=>;?>MDC :A7M:;>D5DC’ 5=3?36L6?7:
?) 0*+) *>"!1+ %)*%,3)10µ'
K) 0*+ µ+)+&:"1+
I) 0*+ +"1,+&:"1+
G) 0*+) µ+)+&3"1%2' %)*%,3)10µ'

40. &6< =A9G:7Iµ? G=<A4B;<= 8?6L Bertrand, 75<>><A;? :A76=IML3:6?7 96?3:
?) / *1µ< 10+-*%1 µ! *+ +.1%2' 2'0*+9 2%1 ,1% *19 $6+ !&18!1.<0!19 
K) / *1µ< !#)%1 µ!,%"-*!./ %&' *+ +.1%2' 2'0*+9 2%1 ,1% *19 $6+ !&18!1.<0!19
I) / *1µ< !#)%1 µ12.'*!./ %&' *+ +.1%2' 2'0*+9 2%1 ,1% *19 $6+ !&18!1.<0!19
G) 6&(.8+6) 2>.$/ 2%1 ,1% *19 $6+ !&18!1.<0!19

-< ?89B<=F< 8:;µ:3< ?3?RE>:6?7 567C :A9µ:3:C 13 :>46@5:7C (41-53).

234535

 !" 1
5
 *67896:;89 2010 #$%&'()# 'µ*+%#,- '*#.'/%!0! )*1 (+" 234'%/+3. 5#) (!" /$%30! ,)#

6'#(+3%4/) (!7 '*#.'/%!0!7, + 234'%/+3 '#089%'# µ'(%!(: &;+37 5.000 €, 9") µ'().'#%#0µ9"+
'*#<)(#,1 )3(+,/"!(+ #$#=(#,-7 .%-0'=7 #$#+,(!0/)7 (+3 ,)# 'µ*+%'&µ)().  ) )3(+,/"!(+ '/.'
)4+%)0('/ *%#" )*1 (%/) (3) .%1"#) )"(/ 10.000 € ,)# ! (%9.+30) )>/) (+3 0(!" )4+%:
µ'().'#%#0µ9"=" )3(+,#"-(=" ',(#µ-?!,' 0' 2.000 €. @ (%9.+30) (#µ- )4+%:7 (="
'µ*+%'3µ:(=" ',(#µ-?!,' 0' 4.000 € ,)# ! (%9.+30) )>/) *A6!0-7 (=" 0' 6.000 € 
 !" /$#) !µ9%) + 234'%/+3 "+#,#:B'# 9") ,)(:0(!µ) 4#) (#7 )":4,'7 (!7 '*#.'#%-0'=7 (+3.  +
µ!"#)/+ '"+/,#+ (+3 ,)()0(-µ)(+7 )"9%.'()# 0' 200 €. C 234'%/+3 ,)()<:6'# () '"+/,#) (="
µ!"A" D)"+3)%/+3 2010 9=7 ,)# D+3"/+3 2010.

 !" /$#) !µ9%) + 234'%/+3 )08)6/B'# (!" '*#.'/%!0- (+3.  + '(-0#+ )08:6#0(%+ )"9%.'()# 0'
120 € ,)# ,)()<:66'()# +6+0.'%A7 (!" 1

!
 D)"+3)%/+3 2010. 

E(#7 2 *67896:;89 2010 + 234'%/+3 *%+06)µ<:"'# $&+ 3*)66-6+37, (+37 F1 ,)# F2. C#
µ!"#)/'7 )*+$+.97 ,:?' 3*)66-6+3 +%/B+"()# 0' 100 €. E' '(-0#) <:0!, ,:?' 3*:66!6+7
$#,)#+&()# 12 µ#0?+&7 ($!6. $'" 3*:%.+3" $A%) G%#0(+349""=" ,)# H:0.) ,)?A7 ,)#
'*/$+µ) )$'/)7). C# F1 ,)# F2 ?) )")6:<+3" ,)?-,+"() 0(#7 4 D)"+3)%/+3 2010 )66: ?)
*6!%=?+&" 4#) 16+ (+" D)"+3:%#+ .=%/7 *'%#,+*97.

 !" /$#) !µ9%), + 234'%/+3 *)%)44966'# 9*#*6) ,)# 6+#*1 '>+*6#0µ1 4#) (#7 )":4,'7 (+3
,)()0(-µ)(17 (+3 )*1 (+" *%+µ!?'3(- I)0#6'/+3. @ 03"+6#,- )>/) (=" '*/*6=" ,)# (+3
'>+*6#0µ+& )"9%.'()# 0' 3.000 €. J' (!" *)%)44'6/), + 234'%/+3 ,)()<:6'# 0(+" I)0#6'/+3
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400 €. 2*1 (+ 3*16+#*+ *+01, (+ 50% ?) ,)()<6!?'/ µ' (!" *)%)6)<- (+3 '>+*6#0µ+& ,)#
(+ 50% $&+ µ-"'7 µ'(: )*1 (!" *)%)6)<-.

E(#7 3 *67896:;89 2010 + 234'%/+3 ,)()<:66'# 0(+37 F1 ,)# F2, 9")"(# (!7 µ#0?+$+0/)7 (+3
µ!"17 D)"+3)%/+3 *+01 &;+37 20 € 0(+" ,)?9").
E(#7 4 *67896:;89 2010 + 234'%/+3 )4+%:B'#, )*1 (+" *%+µ!?'3(- 5'=%4/+3, 'µ*+%'&µ)()
)>/)7 5.000 € 4#) (+ ,)(:0(!µ: (+3.  ) 'µ*+%'&µ)() *)%)$/$+"()# (!" /$#) !µ9%). J' (!"
*)%)6)<- (=" 'µ*+%'3µ:(=", + 234'%/+3 ,)()<:66'# 600 € 0(+" 5'=%4/+3 ,)# 4#) (+
3*16+#*+ *+01 )*+$9.'()# $&+ 4%)µµ:(#), (+ 9") +"+µ)0(#,-7 )>/)7 1.000 € ,)# 6->'=7 17
D)"+3)%/+3 2010 ,)# (+ :66+ +"+µ)0(#,-7 )>/)7 3.400 € ,)# 6->'=7 16 2*%#6/+3 2010.
E(+ .%+"#,1 $#:0(!µ) )*1 5 *67896:;89 2010 <=> 46? 31 *67896:;89 2010 + 234'%/+3
*%)4µ)(+*+#'/ (#7 *)%),:(= 03")66)497: 
- H)%)6)µ<:"+"()# () 9*#*6) ,)# + 6+#*17 '>+*6#0µ17 *+3 '/.)" *)%)44'6?'/ ,)#

,)()<:66'()# 0(+" I)0#6'/+3 *+01 &;+37 1.300 €.
- H-%' $:"'#+ )*1 (!"  %:*'B) K &;+37 6.000 € *%+,'#µ9"+3 ") )4+%:0'# (!"

)*+,6'#0(#,- )"(#*%+0=*'/) 4#) (!" L66:$) (!7 '()#%'/)7 LMG.
- *A6!0' 'µ*+%'&µ)() )"(/ 30.000 €. 2*1 (+ *+01 )3(1, (+ 40% '#0*%:.(!,' 0'

µ'(%!(:, 4#) (+ 20% +# *'6:('7 )*+$9.(!,)" #01*+0) 4%)µµ:(#) '"A 4#) (+ 3*16+#*+
$1?!,' */0(=0! 0(+37 *'6:('7.

- L>+86-?!,' (+ 9") 4%)µµ:(#+ *+3 '/.' 4/"'# )*+$',(1 3*9% (+3 5'=%4/+3.
- M)()<6-?!,)" 0' $#)8!µ#0(#,- '()#%'/) 2.000 € 4#) (!" *%+<+6- µ/)7 $#)8!µ#0(#,-7

()#"/)7 0(!" (!6'1%)0!.  + *+01 )3(1 )8+%+&0' *9"(' *%+<+697 (!7 ()#"/)7 0(!
<%)$#"- BA"!.

- M)(9<)6' 0(!" LMG *+01 &;+37 4.000 € ,)# )*9,(!0' (+ )*+,6'#0(#,1 $#,)/=µ)
)"(#*%+0A*'30-7 (=" *%+N1"(=" (!7 0(!" L66:$).

- M)(9<)6' 0(!" (%:*'B) K 4#) (1,+37 (+3 µ!"17 D)"+3)%/+3 2010 (+ *+01 (=" 20 €.
- M)()<6-?!,' + µ#0?17 (+3 3*)66-6+3 F1. E(+" 3*:66!6+ F2 $'" 94#"' '>186!0! 4#)(/

)3(17 )*+30/)B' 0' ()>/$# 0(!" '*)%./).
E(#7 31 *67896:;89 2010 $#'"'%4'/()# 830#,- )*+4%)8- *%+,'#µ9"+3 ") 03"().(+&" +#

6+4#0(#,97 ,)()0(:0'#7 (+3 µ!"17 D)"+3)%/+3 2010. M)(: (!" )*+4%)8-
$#)*#0(A?!,)" () '>-7:

- @ (#µ- ,(-0'=7 (=" )*+?'µ:(=" *+3 '/.' 0(#7 )*+?-,'7 (!7 ! '*#.'/%!0! ',(#µ-?!,'
0' 1.000 € ,)# ! *#?)"- )>/) *A6!0-7 (=" 0' 2.000 €

- @ (%:*'B) K '/.' ,)()6+4/0'# 4#) (+" µ-") D)"+3:%#+ (1,+37 30 € +# +*+/+# $'" '/.)"
,)()6+4#0('/ 0() <#<6/) (!7 '*#.'/%!0!7 ,)# +# +*+/+# ),1µ) +8'/6+"()".

- C# )*+0<90'#7 (=" '"0Aµ)(=" *:4#=" 0(+#.'/=" (+3 '"'%4!(#,+& 4#) (+" µ-")
D)"+3:%#+ 2010 3*+6+4/0(!,)" µ' 03"('6'0(- 1% 0(!" (#µ- ,(-0'=7.

- O'" 3*+6+4/0(!,)" )*+0<90'#7 0() )0Aµ)() (:P6)) *:4#) 0(+#.'/) (+3 '"'%4!(#,+&.
- M)()6+4/0(!,)" (1,+# 10 € 0' <:%+7 (=" *'6)(A" (!7.
- @ $#)8!µ#0(#,- ()#"/) '/.' *%+<6!?'/ (%'#7 (3) 8+%97 (+" D)"+3:%#+.

41. -D3 1
D
 !?3<=?>;<= 2010 6? ;G7? 8:RLB?7? 6DC :A7M:;>D5DC 6<= "=I:>;<= ?3E>M<36?7 5::

?) 11.000 €
K) 13.000 €
I) 19.000 €
G) 21.000 €

42. &67C 2 !?3<=?>;<= 2010 D B<I75678@ ?P;? 643 :A;AB43 8?7 6<= B<7A<O :P<AB75µ<O 6DC
:A7M:;>D5DC 6<= "=I:>;<= ?3E>M:6?7 5::
?) 0 €
K) 400 €
I) 1.700 €
G) 3.000 €

43. &67C 3 !?3<=?>;<= 2010 6< 5=3<B789 EP<G< 6DC :A7M:;>D5DC 6<= "=I:>;<= ?A9 µ75F<OC 6<= µ@3?
!?3<=?>;<= ?3E>M:6?7 5::

?) 0 €
K) 40 €
I) 200 €
G) 2.400 €
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44. &67C 4 !?3<=?>;<= 2010 D 5=3<B78@ ?P;? 643 :µA<>:=µL643 6DC :A7M:;>D5DC 6<= "=I:>;<=
?3E>M:6?7 5:: 
?) 4.600 €
K) 6.600 €
I) 9.000 €
G) 11.000 €

45. &67C 4 !?3<=?>;<= 2010 D 5=3<B78@ ?P;? 643 =A<M>:H5:43 6DC :A7M:;>D5DC 6<= "=I:>;<=
?3E>M:6?7 5::

?) 200 €
K) 4.400 €
I) 7.000 €
G) 8.000 €

46. -< EP<G< ?A9 ?5RLB756>? 6<= µD39C !?3<=?>;<= 2010 6DC :A7M:;>D5DC 6<= "=I:>;<= ?3E>M:6?7
5::

?) 0 €
K) 10 €
I) 36 €
G) 120 €

47. (7 5=3<B78EC A4B@5:7C 6DC :A7M:;>D5DC 6<= "=I:>;<= I7? 6<3 µ@3? !?3<=L>7< 2010 ?3E>M<36?7
5::

?) 12.000 €
K) 18.000 €
I) 24.000 €
G) 30.000 €

48. &67C 31 !?3<=?>;<= 2010 6< 5=3<B789 EP<G< I7? µ75F<OC 6DC :A7M:;>D5DC 6<= "=I:>;<= ?3E>M:6?7
5::
?) 40 €
K) 120 €
I) 160 €
G) 200 €

49. -< 5=3<B789 EP<G< ?A9 698<=C 6<= µD39C !?3<=?>;<= 2010 ?3E>M:6?7 5:: 
?) 20 €
K) 30 €
I) 40 €
G) 50 €

50. (7 5=3<B78EC ?A<5KE5:7C 6<= !?3<=?>;<= 2010 ?3@BF?3 5:: 
?) 17 €
K) 30 €
I) 50 €
G) 90 €

51. -< 8956<C A4B@5:43 6<= !?3<=?>;<= 2010 ?3@BF: 5::
?) 4.600 €
K) 8.000 €
I) 9.000 €
G) 10.000 €

52. -< EP<G< ?A9 G7?RDµ;5:7C 6<= µD39C !?3<=?>;<= 2010 ?3@BF: 5::

?) 0 €
K) 800 €
I) 1.200 €
G) 2.000 €
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53. -< EP<G< ?A9 :3<;87? I7? 6<3 µ@3? !?3<=L>7< 2010 ?3@BF: 5::
?) 200 €
K) 400 
I) 600 €
G) 1.200 €

54. &6D M>@5D A<= E8B:75: 567C 31  :8:µK>;<= 2004 G7?A756HFD8: 967 6< 5=3<B789 EP<G< 6DC
M>@5:4C ?A9 µ75F<OC ?3@BF: 5: 1.000 € ?A9 6<=C <A<;<=C A<59 OV<=C 50 € <R:;B<36?3 ?89µ?
56<=C G78?7<OM<=C. &6D3 :II>?R@ ?3<;Iµ?6<C 643 K7KB;43 6DC M>@5:4C 2005 < B<I?>7?5µ9C
«'75F<;» F? A?><=57LN:7:

?) 8.!30*12' 6&'"+1&+ 1.000 €.
K) 8.!30*12' 6&'"+1&+ 950 €.
I) 8.!30*12' 6&'"+1&+ 50 €.
G) µ/$!)12' 6&'"+1&+.

55. &6D M>@5D 2008 <7 ?I<>EC G7?R9>43 =B78H3 6DC :µA<>78@C :A7M:;>D5DC "W# ?3@BF?3 5: 1.000 €
?A9 6? <A<;? 6< 80 % µ: µ:6>D6L 8?7 6< =A9B<7A< µ: A;5645D. 0 ?P;? 6<= ?A<FEµ?6<C ?>M@C
643 G7?R9>43 =B78H3 6DC M>@5:4C 2008 ?3@BF: 5: 200 € (A<59 6< <A<;< <R:;B<36?3 56<
5O3<B9 6<= 56<=C A><µDF:=6EC) 8?7 D ?P;? 6<= ?A<FEµ?6<C 6EB<=C 643 G7?R9>43 =B78H3 ?3@BF:
5: 300 €. &OµR43? µ: 6? A?>?AL34, 6< 8956<C 643 ?3?B4FE3643 =B78H3 6DC M>@5:4C 2008
?3@BF: 5::

?) 400 €
K) 800 €
I) 900 €
G) 1.000 €

56. (7 B<I?>7?5µ<; :59G43:

?) µ/$!)#?+)*%1 µ! */ 0-)*%5/ *+6 *!"!6*%#+6 &.+03.1)+- 10+?6,#+6.
K) µ/$!)#?+)*%1 µ! */) &.+0%.µ+,< *3) 6&+"+#&3) *3) "+,%.1%0µ:) 0*% $!$+µ>)% */9

%&+,.%7<9.
I) µ/$!)#?+)*%1 µ! *19 !,,.%7>9 &.+0$1+.10µ+- *+6 %&+*!">0µ%*+9.
G) µ/$!)#?+)*%1 µ! */) !#0&.%5/ *+6 !0'$+6.

57. X3? AB@>:C 75<NOI7< 643 B<I?>7?5µH3 6<= I:378<O 8?F<B78<O:
?) &!.1>8!1 µ')+ *% &+0( 8.>30/9 2%1 &#0*30/9 *3) "+,%.1%0µ:).
K) &!.1>8!1 µ')+ *% 8.!30*12( 2%1 &10*3*12( 6&'"+1&% *3) "+,%.1%0µ:).
I) &!.1>8!1 *'0+ *% &+0( 8.>30/9 2%1 &#0*30/9 '0+ 2%1 *% 8.!30*12( 2%1 &10*3*12( 6&'"+1&% *3)

"+,%.1%0µ:).
G) %&%.*#?!*%1 %&' *% &.+03.1)( 10+?-,1%, *+ &.+0%.µ+0µ>)+ 10+?-,1+ %""( 2%1 *+ +.10*12'

10+?-,1+.

58. &6D M>@5D A<= E8B:75: 567C 31  :8:µK>;<= 2004 G7?A756HFD8: 967 <7 ?A?76@5:7C E3?367 A:B?6H3
6DC 1

DC
 !?3<=?>;<= 2004 ?3@BF?3 5: 300 €, <7 5=3<B78EC A4B@5:7C 6DC M>@5:4C ?3@BF?3 5: 2.000

€ 8?7 <7 ?A?76@5:7C E3?367 A:B?6H3 6DC 31
DC

  :8:µK>;<= 2004 ?3E>M<36?3 5: 400 €. &OµR43? µ:
6? A?>?AL34, <7 :75A>LP:7C ?A9 A:BL6:C ?3@BF?3 56< A<59 643:
?) 1.900 €
K) 2.000 €
I) 2.300 €
G) 2.400 €

59. &6<3 75<B<I75µ9 <7 5=554>:=µE3:C ?A<5KE5:7C 643 A?I;43 :µR?3;N<36?7:
?) 0! 1$1%#*!./ 6&+2%*/,+.#% *3) 1$#3) 2!7%"%#3).
K) 0*+ &%4/*12' µ%?# µ! *19 6&'"+1&!9 &.+=">A!19 */9 8.<0!39.
I) 0*+ !)!.,/*12', %7%1.!*12( %&' *+ &(,1+ &+6 %7+.+-).
G) 0! "+,%.1%0µ+-9 *(5!39.
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60. ( "=I:>;<=, < µ:I?B<µE6<M<C 6DC A<B=:F378@C «#!#"&» AL36>:V: 6D3 µ<3?M<89>D 6<= 567C 31
 :8:µK>;<= 2004 (6:B:=6?;? DµE>? 6DC M>@5:4C 6DC #!#"&). -< 67µ<B9I7< I7? 6D I?µ@B7? G:P;45D
(A<= :;M: ?56><3<µ789 8956<C) :8G9FD8: µ: Dµ:><µD3;? 5 !?3<=?>;<= 2005 8?7 8?6?M4>@FD8:
56? K7KB;? 6DC #!#"& O56:>? ?A9 :36<B@ 6<= "=I:>;<= 8?7 :7G7896:>? 56<3 B<I?>7?5µ9 «XP<G?
A><K<B@C 8?7 G7?RDµ;5:43». 0 A?>?AL34 :3E>I:7?:

?) &%.%=1(?!1 &.3*#0*39 */) "+,10*12< %.8< */9 %6*+*>"!1%9 *3) 8.<0!3).
K) &%.%=1(?!1 &.3*#0*39 */) "+,10*12< %.8< */9 %6*+*!"+-9 "+,10*12<9 +)*'*/*%9.
I) &%.%=1(?!1 &.3*#0*39 */) "+,10*12< %.8< */9 06)*/./*12'*/*%9.
G) $!) &%.%=1(?!1 2%µ#% "+,10*12< %.8<. E.>&!1 'µ39 )% !"!84!# %) !#)%1 !&1*.!&*< %&' */

7+.+"+,12< )+µ+4!0#%.

61. &67C 17 "A>7B;<= 2007 G7:3:>I:;6?7 EB:IM<C 56? K7KB;? ?BBL 8?7 567C :I8?6?56L5:7C 6DC
:µA<>78@C :A7M:;>D5DC "W# 8?7 G7?A756H3:6?7 967 D ?A<I>?R@ 643 ?A<F:µL643 56< 6EB<C 6DC
M>@5:4C 2004 @6?3 :78<378@. "A9 ?=6@ 6D G7?A;5645D:
?) !&/.!(?!*%1 µ')+ *+ %&+*>"!0µ% */9 8.<0!39 2004. F% $1+.434+-) +1 !,,.%7>9 */9 8.<0!39

2004.
K) !&/.!(?!*%1 *'0+ *+ %&+*>"!0µ% */9 8.<0!39 2004 '0+ 2%1 *+ %&+*>"!0µ% */9 8.<0!39 2005.

F% $1+.434+-) +1 !,,.%7>9 */9 8.<0!39 2004.
I) !&/.!(?!*%1 µ')+ *+ %&+*>"!0µ% */9 8.<0!39 2004. F% $1+.434+-) µ! "+,10*12>9 !,,.%7>9 *%

G$1% H!7("%1% */9 8.<0!39 2007.
G) !&/.!(?!*%1 *'0+ *+ %&+*>"!0µ% */9 8.<0!39 2004 '0+ 2%1 *+ %&+*>"!0µ% */9 8.<0!39 2005.

F% $1+.434+-) µ! "+,10*12>9 !,,.%7>9 *% G$1% H!7("%1% */9 8.<0!39 2007.

62. ( W?57B:;<= A?>?8<B<=F:; E3? µ?8><M>937< A>9I>?µµ? R<><B<I;?C G7L>8:7?C 10 µD3H3 (?A9
&:A6EµK>7< 2004 E4C 8?7 !<O37< 2005) 5: *.).*. A<= 56:ILN:6?7 5: :µA<>789 8E36>< :A; 6DC <G<O
+?6D5;43. -? G;G?86>? OV<=C 10.000 € 8?6?KLBB<36?7 56< 5O3<B9 6<=C ?A9 6<3 W?57B:;<=, µ:
6D3 E3?>PD 6<= A><I>Lµµ?6<C, 5OµR43? µ: 6<3 8?3<375µ9 6<= *)*. -< *)* 8B:;3:7 M>@5D 567C
31  :8:µK>;<= 8LF: E6<=C. &OµR43? µ: 6? A?>?AL34, 6< 5=3<B789 E5<G< 6<= *)* ?A9 6<3
µ?FD6@ W?57B:;<= I7? 6D M>@5D 2004 F? ?3E>M:6?7 5::

?) 0 €
K) 4.000 €
I) 6.000 €
G) 10.000 €

63. X564 6? G:G<µE3? 6DC :>H6D5DC 62 8?7 :A7ABE<3 967 < 8?3<375µ9C 6<= *)* A><KBEA:7
:P:6L5:7C 56< 6EB<C 8LF: µ@3? 8?7 967 ?A<6=M;? 567C :P:6L5:7C 5=3:ALI:6?7 ?=69µ?6? G7?I>?R@
6<= µ?FD6@ M4>;C 9µ4C :A756><R@ 6<= A<5<O 643 G7GL86>43 A<= :;M?3 8?6?KBDF:;. ( µ?FD6@C
W?57B:;<= :A76=IML3:7 567C :P:6L5:7C 643 µD3H3 &:A6:µK>;<=, (864K>;<= 8?7 %<:µK>;<= ?BBL
?A<6=IML3:7 567C :P:6L5:7C 6<=  :8:µK>;<= 8?7 G7?I>LR:6?7 ?A9 6< A>9I>?µµ?. &OµR43? µ: 6?
A?>?AL34, 6< 5=3<B789 E5<G< 6<= *)* ?A9 6<3 µ?FD6@ W?57B:;<= I7? 6D M>@5D 2004 F?
?3E>M:6?7 5::

?) 0 €
K) 4.000 €
I) 6.000 €
G) 10.000 €
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64. 0 :A7M:;>D5D "W# 8?6?58:=LN:7, 5=58:=LN:7 8?7 :µA<>:O:6?7 8?6:V=IµE3? 6>9R7µ?. 0
Dµ:><µD3;? B@PDC 643 6><R;µ43 :;3?7 GO< M>937? ?A9 6D3 Dµ:><µD3;? A?>?I4I@C 8?7
?3?I>LR:6?7 56D 5=58:=?5;?. &6D3 ?A<I>?R@ 6DC 31  :8:µK>;<= 2004 G7?A756H3:6?7 967
=AL>M:7 µ;? A?>6;G? 8<35:>KH3, 7G7?;6:>? µ:ILBDC ?P;?C, A<= 8?6?58:=L56D8: 567C 10 '?>6;<=
2003. 0 A?>6;G? @6?3 A><5?>µ<5µE3D 567C ?3LI8:C :39C ?BB<G?A<O A:BL6D (A.M. 5?B7I8L>7?
µ: µEB7 8?7 8>:µµOG7?!!). "A9 6D3 Dµ:><µD3;? 8?6?58:=@C 6DC 8?7 µ:6L D A?>6;G? ?=6@ G:3
?A<>><R@FD8: ?A9 6<3 ?BB<G?A9 A:BL6D (B9I4 A6HM:=5DC 6<=) <O6: 9µ4C EI73: µEM>7 5@µ:>?
G=3?69 3? G7<M:6:=F:; 56D3 Dµ:G?A@ ?I<>L @ 5: LBB<3 A:BL6D B9I4 6DC 7G7?76:>96D6?C 6DC
8?6?58:=@C 6DC. &OµR43? µ: 6? A?>?AL34 < A:>75596:>< <>F9C B<I756789C M:7>75µ9C :;3?7 <
A?>?8L64:

?) )% µ/ ,#)!1 *#&+*% ,1%*# &+*> $!) 5>.!19 *1 ,#)!*%1. I8+6µ! %2'µ% $-+ µ<)!9 2%1 $>2% µ>.!9 µ>8.1
*/) &"<./ %&%5#30/ *+6 %&+4>µ%*+9.

K) )% $1%,.%7!# *+ %&'4!µ% 2%1 / &.+2-&*+60% ?/µ#% )% µ!*%7!.4!# 2%*’ !64!#%) 0*% #$1% 2!7("%1%.
I) )% $1%,.%7!# *+ %&'4!µ% 2%1 / &.+2-&*+60% ?/µ#% )% !µ7%)10*!# 0*/) 2%*(0*%0/

%&+*!"!0µ(*3) 8.<0!39.
G) )% $1%,.%7!# *+ %&'4!µ% 2%1 / &.+2-&*+60% ?/µ#% )% !µ7%)10*!# 0*+ !)!.,/*12' 39 >5+$+

&+"6!*+-9 %&'0=!0/9.

65. &6D M>@5D 2005 G7?A756H3:6?7 967 G:3 8?6?B<I;56D8?3 56? K7KB;? EP<G? :A758:=@C 867>;43
OV<=C 1.000 €. -? EP<G? ?=6L ?R<><O5?3 6D3 ?µ<7K@ 6<= :B?7<M>4µ?6756@ A<= EK?V: 6<3 !<OB7<
2004 6? I>?R:;? 6DC G7<;8D5DC 6DC :6?7>:;?C. "A9 6< A<59 ?=69, 6< 60% € 8?6?KB@FD8: 6< 2005,
µ9B7C ?3?8?BORFD8: 6< BLF<C :3H 6< =A9B<7A< 5=µR43@FD8: 3? 8?6?KBDF:; 6<3 !?3<=L>7<
2006. &OµR43? µ: 6? A?>?AL34:
?) 4% ,#)!1 06µ&"/.3µ%*12< !,,.%7< 0*% =1="#% */9 8.<0!39 2004 ,1% «>5+$% !&102!6<9 2*1.#3)»

-A+69 1.000 €.
K) 4% ,#)!1 06µ&"/.3µ%*12< !,,.%7< 0*% =1="#% */9 8.<0!39 2005 ,1% «>5+$% !&102!6<9 2*1.#3)»

-A+69 600 € 2%1 *% 6&'"+1&% 4% 2%*%"+,10*+-) *+ 2006 &("1 0*% «>5+$% !&102!6<9 2*1.#3)».
I) 4% ,#)!1 !,,.%7< 0*% =1="#% */9 8.<0!39 2005 ,1% «>5+$% !&102!6<9 2*1.#3)» -A+69 1.000 €.
G) 4% ,#)!1 !,,.%7< 0*% =1="#% */9 8.<0!39 2005 ,1% «>5+$% &.+/,+6µ>)3) 8.<0!3)» -A+69 1.000

€.

(7 :A9µ:3:C GO< :>46@5:7C, 66 8?7 67, ?3?RE><36?7 56< 8:;µ:3< 8?7 6< G7LI>?µµ? A<= ?8<B<=F:;:

#:?64@3?8? µ6A5B<> <C=367 D:6EBF GH<B635 3B8 µIA5µ6 B5> ,8J?B?4F> $?4878µ;6>.
. D:6K?4F 6EG?4@7?35 B5> 6A:8?3B?4F> 46B678µF> 3LGB?4F> 39L7@B5B6> B=7 M6AµN7
B89>, µG I:?3B6 B8 20, E6:893?IOGB6? 3B8 C?ID:6µµ6 E89 648J89AG;:

8 10 12 14 16 18 20

K?Fµ9C

0,00

0,20

0,40

0,60

0,80

1,00

A
<
5
<
5
69

 µ
?
F
D
6H
3

 !"!#$µ% &!'µ$($)*!+
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66. 0 G7Lµ:5<C 643 K?FµH3 :;3?7 A:>;A<= ;5D µ:: 
?) 14
K) 15
I) 16
G) $!) µ&+.!# )% 6&+"+,10*!#  µ! */) 6&(.8+60% &"/.+7+.#%

67. To AB@F<C 643 µ?FD6H3 µ: K?Fµ<B<I;? ?A9 17 8?7 AL34 :;3?7 A:>;A<= ;5< µ::
?) 50
K) 60
I) 20
G) $!) µ&+.!# )% 6&+"+,10*!# µ! */) 6&(.8+60% &"/.+7+.#%

68. &: µ;? :A7M:;>D5D 6< 6µ@µ? µ:B:6H3 M>D57µ<A<7:; E3? 56?6756789 µE6>< 6< <A<;< <>;N:6?7 4C D
G7?R<>L µ:6?PO 6<= 20

<=
 8?7 6<= 80

<=
 A<5<567?;<= 5Dµ:;<= 643 µ75FH3 643 ?A?5M<B<=µE343.

-< 3E< 56?6756789 µE6>< µ?C G;3:7 ABD><R<>;:C 5: 967 ?R<>L 6D3:
?) 2!)*.12< *(0/
K) µ!*%="/*'*/*%
I) 2-.*30/
G) %06µµ!*.#%

69. *LA<7? <78<IE3:7?  EM:7 7 A?7G7L. -? A?7G7L ?=6L I:33@FD8?3 5: :A6L 5=3:M9µ:3? E6D (E3? 8LF:
E6<C). 0 6=A78@ ?A98B75D 643 DB787H3 6<=C :;3?7:
?) 2
K) 3
I) 4
G) $!) µ&+.!# )% 6&+"+,104!# µ! */) 6&(.8+60% &"/.+7+.#%.

70. ( ?>7FµD6789C µE5<C 8?7 D 6=A78@ ?A98B75D 643 K?FµH3 100 µ?FD6H3 8LA<7<= B=8:;<= 5:
:PE6?5D 6<= µ?F@µ?6<C +<B7678@C (78<3<µ;?C @6?3 14 8?7 2 ?36;56<7M?. "3 D 8?6?3<µ@ 643
K?FµH3 F:4>DF:; 8?6L A><5EII75D 5=µµ:6>78@ 8?7 µ<3<89>=RD 696: < ?>7Fµ9C 643 µ?FD6H3
A<= K?Fµ<B<I@FD8?3 56D3 :PE6?5D ?=6@ µ: K?Fµ9 6<=BLM756<3 16, :;3?7 A:>;A<=:
?) 8
K) 32
I) 16
G) 5

71. 2EB<=µ: 3? :BEIP<=µ: 6D3 =A9F:5D 967 6< A<5<569 µ?FD6H3  B=8:;<= A<= ?I?A<O3 6D3 8B?578@
µ<=578@  :;3?7  20%  µ: :3?BB?8678@ =A9F:5D 967 6< A<5<569 ?=69, :;3?7 µ:I?BO6:><. )A7BEI<=µ:
6=M?;? E3? G:;Iµ? 1000 µ?FD6H3 B=8:;<=. "A9 ?=6<OC <7 210  GDBH3<=3 967 ?I?A<O3 6D3
8B?578@ µ<=578@.  -< 5RLBµ? 6OA<= ! 5: 5ME5D µ: 6<3 5=I8:8>7µE3< EB:IM< :;3?7:
?) )% 4!3.<0+6µ! '*1 *+ &+0+0*' *3) µ%4/*:) &+6 %,%&+-) */) 2"%012< µ+6012<  !#)%1  20% , !):

0*/) &.%,µ%*12'*/*% !#)%1 µ!,%"-*!.+.
K) / >""!1A/ %)*1&.+03&!6*12'*/*%9 0*+ $!#,µ%
I) *+ $!#,µ% µ%9, !7 '0+) &+*> $!) µ&+.!# )% !#)%1 %&+"-*39 %2.1=>9 %)*#,.%7+ *+6 &"/460µ+-, )%

µ%9 +$/,<0!1 0! "%)4%0µ>)% 06µ&!.(0µ%*%
G) )% 4!3.<0+6µ! '*1 *+ &+0+0*' *3) µ%4/*:) &+6 %,%&+-) */) 2"%012< µ+6012<  !#)%1

µ!,%"-*!.+ *+6 20% , !): %6*' $!) 108-!1.

72. ( 5=36:B:56@C 5=5ME675DC µ:6?PO 6<= KL><=C 8?7 6<= OV<=C :39C G:;Iµ?6<C 60 3:<I3H3
=A<B<I;56D8: ;5<C µ: 0,91. "=69 5Dµ?;3:7 967 6< OV<C 8?7 6< KL><C 643 3:<I3H3 6<= G:;Iµ?6<C
:µR?3;N<=3:

?) 6A/"' =%4µ' !5(.*/0/9 µ!*%5- *+69
K) 1086.<  08>0/ µ!*%5- *+69
I) 1086.< 4!*12< ,.%µµ12< 08>0/ µ!*%5- *+69 
G) %04!)<  08>0/ µ!*%5- *+69
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73. -< G7L56Dµ? :µA756<5O3DC K?Fµ<O 95% I7? 6< µE5< µ75F9 6<= 5=39B<= 643 ?A?5M<B<=µE343
5: µ;? :A7M:;>D5D, A<= =A<B<I;5FD8: KL5:7 8LA<7<= 6=M?;<= G:;Iµ?6<C, EM:7 8L64 9>7< 6 8?7
L34 9>7< M. "=69 5Dµ?;3:7 967:
?) µ! &14%)'*/*% *+6"(810*+) 95% + µ>0+9 µ104'9 *3) %&%08+"+6µ>)3) 0*/)    !&18!#./0/ 4%

=.#02!*%1 !)*'9 *3) +.#3)  *+6  $1%0*<µ%*+9.
K) µ! &14%)'*/*% *+6"(810*+) 5% + µ>0+9 µ104'9 *3) %&%08+"+6µ>)3) 0*/)  !&18!#./0/ 4%

=.#02!*%1 !2*'9 *3) +.#3) *+6 $1%0*<µ%*+9.
I) µ! &14%)'*/*% 95% + µ>0+9 µ104'9 *3) %&%08+"+6µ>)3) 0*/) !&18!#./0/ 4%  =.#02!*%1 !)*'9

*3) +.#3) *+6 $1%0*<µ%*+9.
G) %) !&1">5+6µ!  100 *68%#% $!#,µ%*% %&%08+"+6µ>)3) 0*/) !&18!#./0/, 0*% 95  %&' %6*( + µ>0+9

µ104'9 4% =.#02!*%1 !)*'9 *3) +.#3) (%, =) *+6 $1%0*<µ%*+9.

(7 :A9µ:3:C 6>:7C :>46@5:7C, 74 E4C 76, ?3?RE><36?7 56< 8:;µ:3< A<= ?8<B<=F:;:

0IE8?8> 46A5D5BF> 6E8KI3?3G 76 MGJB?N3G? B57 M6Aµ8J8D;6 B=7 µ6A5BN7 B89, 3G 4IE8?6
39D4G4:?µ<75 D:6EBF GH<B635, 69HI787BI> B57 46BI 2 µ87ICG> 3B87 4IAG µ6A5BF.  

74. ( 5=36:B:56@C µ:6?KBD696D6?C 643 3E43 K?FµH3 643 µ?FD6H3:
?) 4% %65/4!# 
K) 4% µ!134!#
I) 4%  &%.%µ!#)!1 %µ!*(="/*+9
G) $!) µ&+.!# )% 6&+"+,104!# µ! */) 6&(.8+60% &"/.+7+.#%.

75. 0 G7Lµ:5<C 643 3E43 K?FµH3 643 µ?FD6H3:
?) 4% %65/4!# 
K) 4% µ!134!#
I) 4%  &%.%µ!#)!1 %µ!*(="/*/
G) $!) µ&+.!# )% 6&+"+,104!# µ! */) 6&(.8+60% &"/.+7+.#%.

76. *LA<7<C 5=I8:8>7µE3<C µ?FD6@C K?Fµ<B<I@FD8: ?>M78L µ: 11 µ<3LG:C. ( K?Fµ9C ?=69C 6<3
6<A<FE6D5: 56< 16<  A<5<567?;< 5Dµ:;<. ':6L 6D3 ?OPD5D 6DC K?Fµ<B<I;?C, 8?6L 2 µ<3LG:C, <
3E<C K?Fµ9C 6<= 5=I8:8>7µE3<= µ?FD6@ F? K>:F:;:

?) 0*+ 18+ &+0+0*1%#+ 0/µ!#+
K) 0*+ 13+ &+0+0*1%#+ 0/µ!#+
I) 0*+ 16+ &+0+0*1%#+ 0/µ!#+
G) 0*+ 14+ &+0+0*1%#+ 0/µ!#+.

(7 :A9µ:3:C 6E55:>:7C  :>46@5:7C, ?A9  77 E4C 80 ?3?RE><36?7 56< 8:;µ:3< A<= ?8<B<=F:;:

P<J89µG 76 µGJGBF389µG B5 3L<35 QR89> 46? 5J?4;6> B=7 6D8:?N7 E:83L8J?4F>
5J?4;6>.  %G 3B8?LG;6 G7@> B9L6;89 CG;Dµ6B8>  30 6D8:?N7 E:83L8J?4F> 5J?4;6>,
GK6:µ@O89µG <76 6EJ@ D:6µµ?4@ µ87B<J8 E6J?7C:@µ535> E89 G4K:IOG? B8 QR8> 3G
G46B83BI  (&) 367 D:6µµ?4F 397I:B535  B5> 5J?4;6> 3G 39µEJ5:=µ<76 <B5 O=F> (S). 
. G4B?µ5AG;36 GH;3=35 E6J?7C:@µ535> µGB6HQ B89 QR89> 3G G46B83BI  (&) 46? B5>
5J?4;6> 3G 39µEJ5:=µ<76 <B5 O=F> (S) B89 B9L6;89 CG;Dµ6B8> 30 6D8:?N7

E:83L8J?4F> 5J?4;6> G;76?:  

 Ŷ 49,19 + 9,67  

77.   !"#$%&%!$'( )*&+#,-.µ/!/( (9,67) ,/&0#%+ .$+:
*)  !" #$µ%#&' (&' &)*+, ' + (- %#  %($' ./0', 1-23* ($! µ$#(%)$!, ($ 45$' 3+(*µ-( * 6(*  !"-#3( *

+ (- 9,67%
1)  !" #$µ%#&' (&' &)*+, ' + (- %#  %($' ./0', 1-23* ($! µ$#(%)$!, & µ%2&  4"&2& ($! 45$!'

3+(*µ-( * ,2& µ3  9,67 3+ ($2(-.
2) 23 +-73  4"&2& (&' &)*+, '  #(*2($*83,  4"&2& ($! 45$!' µ3 9,67% 
,) & µ%2&  4"&2& ($! 45$!' + ( &)*+* +6 %($' 3,# * 9,67% 
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78.   !"#$%&%!$'( µ%$*1&/$.$/$*(  R
2
  ")3&324!$/5% 4!3( µ% 0,852, *"$. %6/2%4$*+:

*) & &)*+,  (<) 3"&=3, ($ 85,2% (&' 2!#$)*+0' µ3( 1)&(6(&( ' ($! 45$!' (>), 1-23* (&'  3+(*µ&73,2 '
3",2/2&' ; )*#:?6µ&2&'

1) & 2!28%(*2& 45$!' + * &)*+, ' 3,# * 85,2%
2) 1-23* (&' 3+(*µ&73,2 ' 3",2/2&' ; )*#:?6µ&2&', & µ3( 1)&(6(&(  (&' > 3,# * 85,2%
,) 1-23* (&' 3+(*µ&73,2 ' 3",2/2&' ; )*#:?6µ&2&', & µ3( 1)&(6(&(  (&' < 3,# * 85,2%

79.  7 !$*8%-9 $3" 2-*µµ+53: µ3#$;&3" )*&+#,-.µ/!/( %5$+µ9$*+ 4!/ µ% 49,19. <"$. !/µ*4#%+ .$+:

*) & 2!#$)*+0  4"&2& ($! 45$!' 2($ :*-2(&µ  (&' ;?$28$)*+0' &)*+, ' 3+(*µ-( *, 1-23* ($!
µ$#(%)$!, ,2& µ3 49,19% 

1) & + (’ %($' ./0' µ%2&   4"&2& ($! 45$!' 2($ :*-2(&µ  (&' ;?$28$)*+0' &)*+, ' 3+(*µ-( *, 1-23*
($! µ$#(%)$!, ,2& µ3 49,19%

2) & 2!#$)*+0  4"&2& ($! 45$!' 2($ :*-2(&µ  (&' ;?$28$)*+0' &)*+, ' 3+(*µ-( *, 1-23* ($!
µ$#(%)$!, ,2& µ3 49,19 3+ ($2(-

,) ($ µ%2$ 45$' (/#  =$?*@# ;$! :3# 2!µ;)0?/2 # ($ ;?@($ %($' ./0' 3+(*µ-( * 1-23* ($!
µ$#(%)$!,  ,2$ µ3 49,19 3+ ($2(-

80. 7 5&4µ*5* µ;$-/!/( $/( *#%69-$/$/( µ%$*1&/$'( = $3" 2-*µµ+53: µ3#$;&3" )3"
*#$+)-3!>)%:%+ $/# /&+54* $># )*+,+0# !$3 ,%42µ*, %4#*+:

*) :* (3( =µ%#&  +),µ +  
1) $#$µ 2(*+0  +),µ + 
2) +),µ +  :* 2(0µ ($'.
,) +),µ +  )6=$!.


